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ΕΞΕΤΑΖΟΜΕΝΟ ΜΑΘΗΜΑ: 
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ΕΝΕΔΕΙΚΤΙΚΕΣ ΑΠΑΝΤΗΣΕΙΣ  
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ΑΙΤΙΟΛΟΓΗΣΗ  

Πηγή στο Α,Δ :  
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Πηγή στο Β,Ζ :  
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Πηγή στα Γ,Δ  
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Άρα  Ι1 → μικρότερο  

 

Α4 

α) pnp 

β) K→ εκπομπός  

    Ζ → συλλέκτης  

    Θ → βάση  

γ) Μ → αρνητικός πόλος  

    Ν → θετικός πόλος  

     Σ → αρνητικός πόλος  

     Ρ → θετικός πόλος  

 

Α5  

α)  

x y Z y۰ z f = x + y۰ z f  = z y  x   
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β)  

f = x + y۰ z f  = z  y  x   f ۰ f  f + f  
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ΟΜΑΔΑ ΔΕΥΤΕΡΗ 

Β1 α) ΙΕ = Ιc + ΙΒ = 5 ۰ 10
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ΔΙ

ΔΙ

B

c ΔΙc = 200 ۰10
-6

 ۰ 2 ۰10
2
   ΔΙc = 40 ۰10

-3
 Α 

Ιc' = 45mA 

B2 α) dΒpmax = 10logApmax = 10 log10
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β) dB` = 10logAp` = 10log
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 = 10(logApmax – log2) =  

= 10logApmax  - 10log2 = dBpmax – 10 ۰ 0,3 = dBpmax – 3  
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α) EΟΛ= n ۰ E = 4E = 4۰ 15 = 60V 
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β) Ι = 12Α 
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ε) Ι0 = ΙΕΝ ۰ 2  
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